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B7E 2.1 * n>2 > AE 14.1 -
i7% 2.2 : n>3 > A[E 14.2 -
I7% 2.3 1 n>4 > A[E 14.3 -
iH7% 2.4 n>8 » A& 14.4 -
i7% 3.1 n>3 > A[E 14.5 -
i7% 3.2 n>6 > A[E 14.6 -
i7% 3.3 1 n>7 > A[E 14.7 -
CWHFE 3.4 0 n>T7 0 40[E] 14.8 -
10. ©fF5%E 3.5 : n>6 > 40[E] 14.9 -
11. #5% 3.6 : n=10 > 40[&E 14.10 ©
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http://oeis.org/
https://ir.nctu.edu.tw/bitstream/11536/77904/1/352401.pdf
http://activity.ntsec.gov.tw/activity/race-1/52/pdf/080414.pdf
http://www2.kuas.edu.tw/prof/cjh/2003puzzle/html/06.htm
http://mathworld.wolfram.com/Polyomino.html
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14.1 2[E] 14.10 * ZEERFRERV TR ZER FE -
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